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Just like the washing of the — 915 Tyuavhr o103 MR 297A3 01290 1N
clothes which is written regarding the w1%n s»9, etc.

OVERVIEW

The X723 derives DX NXMIY in the 17190 *»° from QTR NXMIWV in W21 72 through the
common term of 2731 912’2, which is mentioned by both of them.> msoin qualifies
what can be derived from this commonality.

Mmoo anticipates a difficulty
—*RUPINN 1) K 19190 2191 01N 1% 9NN B937 N1

Y917 9 is stricter that 17120 "»Y in many ways, and we do not derive from this

same W7 of 0°732 012°2 that they should be similar in all respects, so why do we derive that
they should be similar regarding 27X nX» W (and not in other respects)?

mooIn responds:
— 251D 81 KD 192)D7 DIVN NNPYL 199N

And the reason to distinguish between 27X n¥mw and other matters is because we

cannot derive completely that all the rules of Y1971 > should apply 190 2 -
— AYANN NYNY 1991 1TV YPYNT S9NV) AN NNT

For the 710 wrote =y after the Yn *»° (and before the 17190 °»°), which
indicates that in the 17190 *»°, the yMx» was 9wl from the way he was Xnv

previously 1°n "»73, we cannot therefore say that all the stringencies which applied 177 »22
apply 190 "»2 -

— PIY 1AV 299 3903 NNY 7Y NPT NN
However only regarding this issue (of 7% Xnv?) we do derive from the wpon,
because they (2°751 o7& [nkm1v]) are similar -

TANNDIVA AN NIN ANDIV PPN D99 DIN PNT

' The 10191 *»° are the days after the 7715 pronounces him as a *X7) y %% until he is healed from the ny=% and begins
the 71770 process of the birds, etc.

? o732 o120 is mentioned at the end of 1150 *»* (when he finishes the bird process) in 11,7 (¥71¥n) Xp" where it
states "121 1°732 DX 77U 0221 and at the end of 17190 "1 in v,7> X7P™ which states 1°732 DX 020,

? During 190 "2 the yn is no longer 7mX2 Xnbm or Xwn 2w 2dwWn Xnun as he did 1wion w2, [There is an
additional difference that 10171 *»*2 he must be 7117 yIM1; however 11190 "»°2 he may return to the 7ann. This is (not
specifically related to IXn10 and is) written however explicitly in the 770 there is no need for the 771 to teach this.]
* See w"wA that 901N does not mean an actual wp 1, but rather either a w"73 or 13°¥» 7 (from 0°732 012).

5 1,7 (¥¥7) RIP™ reads 7Y 202 v (regarding the conclusion of Y0177 ).

% The 77N teaches us that 1M90 "2 he is 0732 Xnwa. It is most logical to say (on account of the wp>n) that it includes
also 07X nkMY which is equivalent to 0°721 2732 NRMY (in that they are only 8™ 22pn from an AXMWLT AR). There is
no reason to assume that it includes 2mX nRMW or Rw» 2w 2w (and not a7R), since they have no specific

1
TosfosInEnglish.com



an a7 'O a,w 2" 7"0a

For 27921 278 cannot be nx»w %ap» (from any ax»w), but only from an 2ax
ANRIYA, like a y¥n.

SUMMARY

We include 27% nX¥mv on account of the wp>i1 (because of its commonality with
0°732 NXMY [they require an XMWY 2X]) and utilize the 17V to exclude MR NRMY
and other stringencies of Y071 .

THINKING IT OVER
How will nww 21 and »271K 21 react to the 72 of 2°732 0122 (why did not nww 27
mention it and will 277X 27 reject it)?’

commonality with 2°731 2>732 nxRMW.
7 See nor mwn.
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